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Political Science

Paper II

Tt feormm
gyarent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. €@ YA e

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)

Which tool is used to measure NGOs

social and ethical performance ?
(A) Green Audit

(B) Economic Audit

(C) Gender Audit

(D) Social Audit

What mechanism is not used for good

governance ?

(A) Jansunwai

(B) Citizens charter
(C) Ombudsman

(D) Grievances redress system

TS (NGO) =1 9Hifsieh o Afdeh

o~

HEARE HISHT H0AE 0 Gred

R ?

(A) BR@ sieharm
(B) aTfYfe afehefo
(C) femama sisherm

(D) |HIfSTh  STheTol

Y- IS IV T AT S AT ?

(A) SHgAaE

(B) ANTR&RT=N §

(C) ArerEErd

(D) TR TR =geeen

[P.T.O.



What are the objectives of monitoring

and evaluation of public policy ?

(a) The assess whether policies are

over or under performing

(b) To assess whether are working

as planned

(¢) To assess whether the target is

achieved
Codes :
(A) (a) and (b)
(B) (a), (b) and (c)
(C) (b) and (c)
(D) (a) and (c)

Which among the following is not
included in UNDP’s sustainable
development goals ?

(A) Quality education
(B) Poverty eradication
(C) Traditional energy sources

(D) Gender equality

The origin of good governance is

traced to the seminal work of :
(A) Alexis de Tocqueville

(B) Thomas Paine

(C) Robert Putnam

(D) Larry Diamond

3.
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GreiSIeh ERUTe @@ 3 oAk
h e 3TMed ?

(@) ROl SR Sifss forem st
e T @ § U

(b) RO FESAIER &RRa o foh
TE ® qurE

(¢c) &9 9ied Hoid foh A6l € qurdol
Hehdich :
(A) (@) 3T (B)

B) (a), (b) A (c)

(C) (b) =fur (¢)

D) (a) 3 (c)

el o UNDP= e forehraren
2 FAIfease A ?

(A) Torer fRrero

(B) <iisa e

(C) URU Het Hid

(D) femyme TqEar

Y-TIMEHAAT 3T HIVTAT SRR

HE SNy S ?
(A) foid €t Zfehfoad]
(B) 99 U

(C) W2 g 1d

(D) < SEHTE




The origin of contemporary
resurgence of interest in good
governance is credited to the

publication of :

(A) Governance and Development,

1992

(B) Governance without
Government : Order and Change

in the World Politics, 1992

(C) Making Democracy Work : Civic
Tradition in Modern Italy, 1993

(D) Developing Democracy
Towards Consolidation, 1999

Essence of ‘Good Governance’ lies

in :

(A) Strengthening the public sector
by infusing more capital to keep
it growing

(B) Stringent application of
POSDCORB principles

(C) Development of social capital
and networking with societal
organisations

(D) Renewed energizing of

bureaucracy

MAR - 15223/11—B

Y-YUMHRAD HHRTATT  GAGCHTATAT

{‘q“\‘{*‘“‘“ 6q<‘“'€| a_q. ................. _E
et S

(A) TRTH g SmATH=, 1992

(B) T foeree T8 ; 3ifex 3fve
= 31 T doe Uifaifead, 1992

(C) AfRT SHIRH & : fafasw ISvE
39 Hfed s, 1993

D) AW SHHH! : TTSH hrTlcTesH,
1999

(A) Aok Aieae aad Hesieh &=

TohhIT THEd A IFGTd Bl

Ll

(B) POSDCORB dxai=l <%E%
STHASSITI T

(C) gmifsres wigad fawma snfor

TSR TSI A2aeh

(D) ATRRT gASifod vl
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10.

11.

Which aspect of good governance
is critically reviewed by many
commentators ?

(A) Social capital

(B) Aid-giving precondition

(C) Civil participation

(D) Participative decentralized
governance

Which one of the following is
historically a basic mechanism of
accountability ?

(A) Citizens’ charter

(B) Ombudsman system

(C) New Public Management

(D) Entrepreneurial management

Which scheme was launched to
provide healthcare facilities to over
10 crore families ?

(A) Pradhanmantri Jan Arogya
Yojana

(B) Ayushman Bharat
(C) Sukanya Samriddhi Yojana

(D) Pradhanmantri Jeevan dJyoti
Bima Yojana

The science of control and

communication is known as :
(A) Informatics

(B) Hermeneutics

(C) Logistics

(D) Cybernetics

MAR - 15223/11—B
G-TRTh AT IV Yot STk SITSIehiHT
fafrces whamn sa e ?
(A) WmISS wEad
(B) WA qudr=Al o3t
(C) R e
(D) Teurht foehfsa wemeehan

STEToaTe Ufdeifasgtedt Eefierde]
FIU TAYT T AR 7

(A) ARG T

(B) siieedas =awen

(C) T Ieh LTI

(D) SIS HaETIH

10. TT HISA AHEH FHal STREALE

gfaar gfauamErel sIv S @n]
Hel  ?

(A) JEEEST SF STRE IS

(B) S Wd
(C) g TG Al

(D) GUFHT Siied At SAT ST

11. = enfor dg=a == I

................... Y TEUEE.
(A) TwfEdreme

(B) sreifvfer wme

(C) THIMHA

(D) EReEET




12.

13.

Who among the following scholars
did not advocate the concept of New

Public Administration ?

(A) Dwight Waldo

(B) Frank Marini

(C) Peter Self

(D) Fredrickson

Give the correct answer by using the
codes given below :

Assertion (A) :

There is no any marked difference
between public and private

administration.
Reason (R) :

Both are conducted according to the

same principles.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not correct explanation

of (A)
(C) (A) 1s true but (R) is false

(D) (A) is false but (R) is true

12.

13.
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EITATAdeh! HITTA] STSITHRT Tl

RYIMEATT QRN hall @l ?
(A) TAEE Al

(B) e ARG

(C) dreX Aeh

(D) HeRewd

el HehdiehT=l aT hed I I
fagam A) :

HTESTTeh YR AT WISt 99 3T
HIVAET Sk ST ik TEl.

T (R) :

T FEER/FRYX. THF AR TTIR
el

‘Ff@ﬂﬁﬁ :
(A) (A) 3TfT (R) § Tl S9! aRIeR]

A (R) B (A) o TeR TR
R

(B) (A) 371 (R) & Ta=Iqul sRIe ATad
T (R) ® (A) ¥ IrT TIoeRI0l

BIE]
(C) (A) R TR 907 (R) ¥ I 3T
(D) (A) Ik 38 907 (R) T SR 3TQ
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14.

15.

The concept and program of Citizens’
Charter was first initiated and

launched in :

(A) UK

(B) USA

(C) Sweden

(D) Canada

Genesis of Public Administration

lies in its objective of :

(A) Management of government’s

business

(B) Making distinction between
‘political’ and ‘administrative’
activity in public organization

(C) Making distinction between

public and private administration

(D) POSDCORB

14.

15.

MAR - 15223/11—B

AT 99 a1 Gehoud=t  STfur

FHEGHATET YUH gEAaW ST STHA-

ARYIMEAE B3 A=A el 3fewerd

AR

(A) TMEHT HAE LA

(B) grasifier HEadia ‘TSR’ 4

‘UYTEeh g’ hEHEY ik hul

(O ESIEERCRCISUIR HIGEI e R TE

HLO]

(D) POSDCORB




16. Match List I (Theorists) with List II
(Arguments) and select the correct

answer from the codes :

(a)
®)
(c)
(d)

(1)

(2)

3)

(4)

List I
(Theorists)
Evan S. Banki
E. N. Gladden
Henri Fayol
W. F. Willoughby
List 1II
(Arguments)
The true realm of Public
Administration is to be found in
the administrative sectors of

government which conduct
management of public affairs

Administration must not be
confused with government. It is
only one of its functions.

In its broadest sense it denotes
the work involved in the actual
conduct of government affairs

Administration means

performance of executive

function of the state

Codes :

A (D
(B) @)
€ 3
D) (2)

(@ ) (©
4) O
1) (@)
2) @

3 @

(d)
(2)
3)
(1)
4)
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16. It I (fo=maa) a1 et I (e )

A=A e AT ST FehdlehHYT A

IW Herer .

(@)
)
(c)
d)

(1)

(2)

3)

arer 1

(feremiaa)
3. T Toted
T wEE

RICU |

QIESEIC)
TRIIMEATT VR &3 IEATA
WG &5 38 S Hresi-h

TS AT hid.

IMEA I YRMEA A=A TTedd Shidl
FHET . YIMET T IMHA™D S

Tk & 3.

& A ATRIIMET  ITHAT
Hd FRINHE THGSE STHAT
gad el ee S

(4) 9IMHA TEUN ATl HERR
T STHASSTI 8.

Hehdieh :
(@ ®) () ()

A @O @ 3 @

B @ @O 2 3

< 3 @ @ @

D 2 @B O @

[P.T.O.



17. Give the correct answer by using the

codes given below :
Assertion (A) :

The chief objective of Public
Administration is to provide easy
and hassle-free access of its services

to the citizens.
Reason (R) :

Citizens’ grievances can be easily
redressed if there is face to face
contact between citizens and

administration.
Codes :

(A) Both (A) and (R) are individually
true and (R) is the correct

explanation of (A)

(B) Both (A) and (R) are individually
correct, but (R) is not the correct

explanation of (A)
(C) (A) is true and (R) is false

(D) (A) is false and (R) is true

MAR - 15223/11—B

SN

17. @t feoiean geEiqd 9 sw fHeer .

fagam= ) :

AR IR T 3e¥ ARTRER AT Hes

afor SIERfed T ST Y0 8 7.

T (R) :

IR AN o Y9I A=A SHREHRE

Tk 3T T ARTHR AT dehTia e

el B IR
PO

(A) (A) 3T (R) § I8t TN SRIET

3 (R) T (A) o RIS SIS
3R

(B) (A) =7fo1 (R) ¥ w1901 SR 3T1ed
T (R) B (A) & I7g TIEIHI
q.@.

(C) (A) SRR 3T AT (R) § I 378

(D) (A) I AR A0 (R) & SR 378

10



18. Public Administration has evolved
through various stages. Arrange the

following stages chronologically :

(1) Principles Approach

(2) Public Policy Approach

(3) Administrative Behaviour

Approach

(4) Politics-Administration

Dichotomy

(5) Ecological Approach

Codes :

A @ @O 6 @ @

B @ @O @ @ 6

© @ @O @ 6 @

M @ @ 6 @O 3
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18. CARYRIEATE S ATelTesdl TUAGER

el 3TE. Welid 2H STIHAM ol

(1) e giesd

(2) WS R gieshd

(3) WRIHhIA aa9alel e

(4) TSTHF-ULMEA 58

(5) RgEIERT gfteen

- -
-
-

@A @ @1 6 G @

B) @ 1) @ @ ©6)

© @ @1 @ 6 @

D @ @ G QO )

11

[P.T.O.



19. Match List I (Thinkers) with List I
(Definitions) and select the correct
answer from the codes :

(a)
)
(c)
(d)

(1

(2)

3)

(4)

List I
(Thinkers)
F. M. Marx
L. D. White
D. E. Marshall
J. M. Pfiffner
List II
(Definitions)

Public Administration consists
of all those operations having
for their purpose the fulfilment
or enforcement of public policy.

Administration is a determined
action taken in pursuit of a
conscious purpose.

Administration is the
organization and direction of
human material resources to

achieve desired ends.

Public Administration is the
fulfilment or enforcement of
public policy as declared by the
competent authorities.

Codes :

(A) 4)
(B) (2)
©) @
D) 3)

(@) (®)
(2)
(1)
(4)

(1)

(c)
3)
4)
3)
(2)

(d)
(1)
3)
(2)
(4)
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19. It I (fammeq) anfor It 11 (men)
I AT Hes T @efidl Hehdrehid
IR HEA I W e

(@)
)
(c)
d)

(1)

(2)

3)

(4)

arer 1
(ferearmtaia)
T, TR
. =Ee
3. TR
. fFER
et 11
(=areE)
mmﬂéﬁoam
HTEYT vl STdl, SATAT 390

st eivon=t gdar fear
STATSTEIN IO BT ST
STofterqdeh T UTTETel Shetel!
Teh T=a Sl ST TSl TR
T

STuferd SfEser=a WIEe! shatd
et 9 Aifqes GaeH 9ued o
v =S weEE B .

wem FAfuRTA SRR hAed

RS AR YIS B

TH.
T
<.
3.

- -
-
-

(A) (4)
(B) (2)
©) @
D) )

(@) (®)
(2)
(1)
(4)

(1)

(c)
3)
(4)
3)
(2)

(d)
(1)
3)
(2)
(4)

12



20. Give the correct answer by using the

codes given below :
Assertion (A) :

Government administration differs
from all other administrative work

by virtue of its public nature.
Reason (R) :

Private administration does not
have any great responsibility

towards the public.
Codes :

(A) Both (A) and (R) are individually
true and (R) is the correct

explanation of (A)

(B) Both (A) and (R) are individually

correct, but (R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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20. Wil Hehdlsh=l ITIR e I I

aer

faam (A) :

MEHTE JIMEA S TR =T

qESIeh &A= HHEAT A0S

EUCECE

T (R) :

QST YR kTl HIS! STeTeler]

.
Hehdieh :

(A) (A) 3T (R) § T8t Tl SRIET

A (R) T (A) o SRER TIHI
e

(B) (A) 3f1 (R) § Sal S0l sRIeR
3Ted T (R) B (A) = g TR0
BIE

(C) (A) IR 3¢ 997 (R) § I 3T

(D) (A) I& 3% 901 (R) § SRR 3T
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21.

22.

23.

The policy of apartheid chiefly

denies :

(A) Political equality
(B) Legal equality
(C) Social equality
(D) Economic equality

The ‘three-dimensional’ account of

power was given by :
(A) Steven Lukes
(B) Robert Dahl

(C) Peter Bachrach and Morton

Baratz
(D) Michel Foucault

The traditional concept of justice is

based upon :
(A) Social

(B) Political
(C) Ethical

(D) Material or economic

MAR - 15223/11—B

21. H&A qUigH™ YRV HE AERRD ?

22.

23.

(A) TSehia FHAT

(B) QI T

(C) grHTfSeh THal

(D) snfdes THan

(e oS aY

o IfAdl Sehegr ot "reel 2
(A) feeg ghd
(B) U TBd

(C) diex SR efo ’iéd AN

(D) TR went!

WO =& Gheqdal Ural HIoTd
qR ?

(A) |HIS®

(B) TS

(C) Hfs

(D) oifqw forar s

14



24.

25.

Marx’s concept of justice demands :
(@) State regulated justice
(b) Abolition of class structure
(¢c) Making of just laws

(d)

Placing means of production

under state control
Codes :
(A) (a), (c) and (d)
(B) (@), (®), (¢) and (d)
(C) (c) and (d)
(D) (b) and (d)

Who is the author of ‘The Rights of

Men’ ?

(A) Edmund Burke
(B) Thomas Paine
(C) John Locke

(D) T. H. Green

24.

25.
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R AR Hehodad i S1140d

e ?
(@) T fafaa sden =
(b) I == |

(c) =T wIegrEl fAfddr

(d) SR HIEAH TSAr=AT FAE=omeare
390

Hehdiah :

A) (), () 30 (@)

(B) (a), (), (c) =f (d)

(©) (c) 3o (@)

D) (b) 37O (d)

‘g T ATE T A UArE e I
g ?

(A) TeHE o

(B) ofgg

(C) St il

D) . T T

15
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26. Match the List I with List II and

select the correct answer from the

codes :

(@)
®)
(c)
(d)

(1)

(2)

3)

4)

List I
Carolyn Merchant
German Greens
Humanist Ecologism
Ecosocialism

List II

Supports biometric equality and
upholds animal rights parallel
to humans

environment
of
capitalism’s rapacious quest

Explains

destruction 1in terms

for profits

Highlighted links between
gender oppression and the

death of nature

Think globally, act locally

Codes :

(A) (4)
B) )
C) @)
D) “)

(@) (®)
(1)
(2)
3)

(1)

(c)
3)
(4)
(1)
(2)

(d)
(2)
(1)
4)
3)
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26. AT I3 ART 11 Seza STT01 Fehd el
I I T

(@)
®)
(c)
d)

(1)

(2)

(3)

(4)

RIC
HAAA S
STHT W

qret afigftedns
ERICIUIRASEIS Gl

it 11

IR FHI qfSe ST AHel
THRIIHTO] JTON Gkl |HA

T < Hedde /=l 3THIE

THEITT BISATET=A] Heuid TS
HLI.

feTT srereer <9+ affor fam= o
AT WEes MERfEd shall

Ifyas faur, Tt Fdl

- -
.
.

(A) 4)
(B) 3)
(C) @)
D) )

(@) ()

(1)

(c)
3)

(d)
(2)

2 @ @

@) 1 @

1 @ O
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27.

28.

Which theory of rights best explains

its nature ?

(A) Social welfare theory

(B) Theory of natural rights
(C) Historical theory of rights
(D) Legal theory

Rousseau favoured :

(A) Representative democracy
(B) Indirect democracy

(C) Direct democracy

(D) Mixed democracy

27.

28.

MAR - 15223/11—B

SRl ShIVAT THgId & 9T &%

e w7

(A) IS el fagid
(B) 7ufifer wowran foagm

(C) Ufertas gamrn g
(D) HrERet fagid

®HM AT FHAT Dl ?

(A) widffees cehemer

(B) STHI& THLTE!

(C) Wedel eirehemel

(D) Gty crememet

29. The Lockean conception of social | 29. Tilerea M HiR Hehodr Th3MEr=
contract contributed to the classical arfasa fagia e fea oM.
theory of democracy. Which of the A G N g
following statements is not

: : AlMEaE! & ?
democratic according to Locke ?
(A) The basis of political power was (A) ST W BT SR HAA T
the consent of the people FHal
(B) People were real sovereign (B) &% 2= =R gEdH
(C) Constitutional but absolute )
(C) =AIHs qul fHIf>d e
government
(D) Government not protector of (D) HIHR AT ZFRTH WI&D
individual’s rights THd
17 [P.T.O.



30.

31.

Conservative ideology believes

that :
(@)

Human rationality is unreliable

)

Moral corruption is implicit in

each human individual

(c)

Human beings have limited

intellect

(d)

Reform and revolution often
lead to greater suffering rather

than less
Codes :
(A) (b) and (d)
(B) (a), (6), (¢) and (d)
(C) (b), (c) and (d)
(D) (a) and (d)

is not a fundamental

(A) Right to Life
(B) Right Against Exploitation
(C) Right to Property

(D) Right to Equality

30.

31.

MAR - 15223/11—B

WRER! TRy o

(@) wAEl fooe B S9TeRmen ST

(b) Afdew 9=l Y& HHE PR
A

(c) WO TG HAfed 3T

(d) GHROM 3T Shicies TeHa Ao
[GEE L]

Hehdich :

(A) () 7o (d)

B) (@), ), (¢) =7 (d)

(C) (b), (c) =AU (d)

D) (a) 3 (d)
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32.

33.

34.

Which one of the following is not an

inter-state dispute ?
(A) Dispute over Chandigarh
(B) Cauvery water dispute

(C) Maharashtra—Karnataka border
dispute
(D) Gorkhaland

Two members of which community

are nominated by the President to
Lok Sabha ?

(A) Tribal

(B) Minority

(C) Anglo-Indian
(D) Hindu

Article 348 (2) of the Constitution
deals with :

(A) Authorised language of the
High Court

(B) Language of the Parliament

32.

33.

34.
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EATeTden! shivldT STasd foarern fam™
qrEr ?

(A) =feTe IRTET 9K

(B) s o foam

(C) FRNIZ-ThAlesh HHER

(D) TR@EeE

T TeAUeh! hiv FHRTAT G FREET
TARENT TCUA AT Shiard 2
(A) emfeerd

(B) TIHEAH

(C) sfret-gfeam

D) &g

FAAT FAT 348 (2) A A &&=l
fo=amr 2ar

(A) 3=d AETATET UIfeehd  |Te
(B) &HG= wren

(C) Medium of Instruction (C) framoma mem
(D) Language of the Supreme Court (D) Faed ~ATATAATT HTe
35. Indian Constitution envisages a | 35. YRA™E ®TeAq =TT I YR
.................. state Tl fa=m e1g
(A) Quasi-Federal (A) TR
(B) Federal (B) TeRI
(C) Confederal (C) HEEERST
(D) Non-federal (D) TR T
19 [P.T.O.



36.

37.

38.

39.

Public interest litigation became

popular during the tenure of ............ .
(A) dJustice P. N. Bhagwati

(B) dJustice Deepak Mishra

(C) Justice Y. V. Chandrachud
(D) Justice P. B. Sawant

Which of the following Commissions

does not deal with riots in India ?
(A) Madan Commission

(B) Shrikrishna Commission

(C) Nanavati Commission

(D) Punchhi Commission

Which of the following is not a type
of party system ?

(A) Regional Party System
(B) One-Party System

(C) Two-Party System

(D) Multi-Party System

Who among the following is not the

Prime Minister of India ?
(A) Charan Singh

(B) Jagjivan Ram

(C) Chandra Shekhar
(D) H. D. Deve Gowda

36.

37.

38.

39.

MAR - 15223/11—B

ShTdehledld TR ad Tl
(A) =T @ T e
(B) = <ush fusn

(C) =N. 9. = w5ge
(D) = . Sff. e

@ik ! ShIUTdT TR WAl Sl i=
A HId G ?

(A) HEH M

(B) it M

(C) AR ST

(D) g8 =M

TTCATIsh! 0T U8l UGEdel JhR
2

(A) URf¥eR &l ugEd

(B) THU& UG

(C) fguer ugerdt

(D) wgU& Tl

WG] ShI0 TRATE Ta9e e 2
(A) =TT

(B) SWISited A

(C) =TT

(D) T=. €. e

20
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40. Who among the following was | 40. WIcliciyeh! ShIoT el TGl WA T2
India’s President for two consecutive g ?
terms ? .
(A) T SrAfT
(A) Gyani Zail Singh
(B) wfa«m 9t
(B) Pratibha Patil
(C) Rajendra Prasad ©
(D) APJ Abdul Kalam (D) TS g Fel
41. Which of the following statements | 41. WTcficiyehl v faem sRieR ed 2
t ? - .
are e (@) THIIT 33% S HigeAl TIHGRI-
(@) 33% seats are reserved for ,\ ,\ -
dlol Kella JHled.
women MPs in Lok Sabha
(b) The number of women MPs in (b) 1952 =1 Hfee ST HH AT
Lok Sabha has increased AR AT Algel STERRIET F&Al
consistently since 1952/First ™ died 3Tl 3.
Lok Sabha -
(¢ 1991 =31 BT AHEHITYA
(¢) The number of women MPs in R .
. Aleh HHAC] Higddl CIHQKRIHE] Hed]
Lok Sabha has increased
consistently since 1991/Tenth Sidcedi dled stiell el
Lok Sabha (d) AeREdq foEd s T
(d) There are no reserved seats for ST AT,
women in Lok Sabha
(A) (@) 0T (b)
(A) (@) and (b)
B) (b) afur
(B) () and (c) (B) (b) = ()
(©) () and (d) © () = (d)
(D) (@) and (d) D) (@) M0 (d)
21 [P.T.O.



42. Which of the following statements

43.

is not true ?

(A) Women’s
sought to reserve 33% seats in
Lok Sabha and Rajya Sabha for

women

Reservation Bill

(B) Women’s Reservation Bill
sought to reserve 33% seats in
Lok Sabha and State Legislative

Assemblies for women

()

Women’s Reservation Bill is

passed by the Rajya Sabha

(D) Women’s Reservation Bill is

never discussed in Lok Sabha

Which of the following is not a part
of India’s policy of economic

liberalisation ?

(A) Privatization of  public

enterprises

(B) Increasing the limit on Foreign

Direct Investment in Industry

(C) Increasing the limit of Foreign
Direct Investment in Defence

Sector

(D) Increasing the minimum limit

for taxable income

MAR - 15223/11—B

42. WAyl HIvd fgum 3| 3 ?

43.

(A) wfearare=n sRem fadReT -
[ S0 qoHEHdel 33% TEie
ST AfgeTe! Teia vt gfteht
Bt

(B) #fgenl R faga™ e
smfor e faumEa e 33%

a ~ fa o ~ "
NECIE IS IR R IR Qﬂ‘-lchl Sl

(C) Hfge & faeEes TS99y 994
el 2TE

(D) Hfgen sTRe fagermar dhad
HYE T= AAA TR

A TeTdeh] ShITTAT TS WRAT=AT 3R
IS0 GROM=T W AT ?

(A) HESIAe STaed I STSTh Lol

(B) SEIMdea 92 WRRIN Tdav[ehi=t
TR STEan

(C) TREIU &Tde 92 QR ek =t
R o]

(D) HIUE STl fwRam 7afer

el
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44. The Planning Commission of India | 44. SRAT=AN S SENH TR shetedl W
published ‘India Human qHa o™ 3@are 2011 @ QIS
Development Report 2011 : Towards qHEEETA foga’ A STEeread el
Social Inclusion’. It studies : Mefen A e shell 318
(@) Relationship between Asset (@) HTH= HieTen! ST STiise At

Ownership and Poverty LS EEs L]
(6) Condition and Challenges (b) G feerdlt 3 @SR SR
regarding Nutrition .
(c) weraSiEr=t feerd
(c) Status of Child Labour . R
(d) TAHYRO Yehear= et
(d) Status of Irrigation Projects
(A) (@), (c), (d)
(A) (@), (c), (d)
(B) (@), (b), (d)
(B) (@), (b), (d)
(C) (@), (b), ()
(C) (@), ), ()
D) (®), (o), (d)
D) (®), (o), (d)

45. Which among the following is not 45. AR IO HIST woeles et 2
a social movement ? (A) Ta9eh! oTicieH
(A) Chipko Movement (B) a1 I9E e
(B) Narmada Bachao Andolan

. (C) A9H TUYEg
(C) Asom Gana Parishad
(D) Bandhua Mukti Morcha (D) =g g ==

46. Politburo is the highest decision | 46. dffcresgl & o1 qeTTe gated
making body of ................. . R E L B
(A) Congress (A) =9
(B) Bhartiya Janata Party (B) wRdt SHar dret
(C) CPI (M) (C) WeRiaRT e el
(D) Bahujan Samaj Party (D) gs TSt e
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47.

48.

49.

Which one of the following is not a

primordial identity of a person ?
(A) Caste

(B) Religion

(C) Citizenship

(D) Language

The Rajya Sabha has exclusive
jurisdiction in :

(A) Proclaiming emergency
(B) Creation of states
(C) Election of the Vice-President

(D) Authorising the Parliament to
legislate on a subject in the

State List

Which of the following Directive
Principles of State Policy was added

later to the Constitution ?

(A) Organisation of Village

Panchayats
(B) Prohibition of Cow Slaughter
(C) Free Legal Aid

(D) Uniform Civil Code

47.

48.

49.
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Gt IV Sarit= STfeH 3w
AmEr ?

(A) S

(B) &

(C) mTiehcd

(D) «re

TG ETeiTel e ST SAThRE
e

(A) viiaTi=t =oon o

(B) e s fAfHe

(AW o

(C) squb;qq"itu S Uh

(D) HHSeN TSy waman fosmmer

HIGT FTAIUATHIS! ATTehad  hol

ETeATAUeh! ShIUTe HIeSieh axaral THIOY]

A S hivad e 3T ?

(A) UM YT A
(B) Tgcdier &gt
(C) HIhd HTIRIMR Hed

(D) 9 AR hIE]
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50. Which of the following lists is not | 50. WTciciueh! VAT =T THCRT TRATT
included in the Indian Constitution ? TeAd ATer ?
(A) Union list (A) g =
(B) State list (B) TS =
(C) National list (C) T H=i
(D) Concurrent list (D) g9t gt
51. Who said, ‘Head of the government | 51. ‘TR 9@ 3T Ta= YHE § b
and Head of the state are twin % 3Ted’ 3™ w0 UM 2
brothers ?’ (A) TR
(A) Kabir B) T
(B) Barani n o .
(C) Swami Vivekananda () ] e
(D) Periyar (D) TRER
52. Barani’s book, ‘Tarikh-i-Feroze | 52. ™ T&ih ‘qriwe-T-fIsmmet’ amed
Shahi’, deals with which subject ? shIoc e == ST ot TR ?
(A) Theory of origin of state (A) Tsgr= el fagr
(B) Duties of the Muslim king (B) Hfem e Fde
(C) Advice to the Muslim king ~ R
(D) Relationship between king and (C) Gt TSl Tacrell et
subjects (D) TS S0 S Ir=Ane ey
53. Who said that political theory as a | 53. ‘U ig fagma eyt woG grma=n ™
theory, in ideal terms, is dispassionate HITARA 9 ﬁ%@ ', § IVl e
and disinterested ? qE 2
(A) John Rawls (A) ST UcH
(B) Andrew Hacker (B) 3:7*-_6;\ BT
(C) George Sabine (C) wifst T
(D) David Held (D) Sfws Bee
25 [P.T.O.



54. Who among the following used the

55.

56.

expression ‘forced to be free’ in
connection with the notion of liberty

of the individual ?
(A) Rousseau

(B) Locke

(C) Green

(D) Hobhouse

Who among the following made the
state a moral institution with a

moral end ?
(A) Bentham
(B) Machiavelli
(C) James Mill

(D) J. S. Mill

Who proposed that power consists in

collective action ?

(A) Hannah Arendt
(B) Jurgen Habermas
(C) Max Horkheimer

(D) Max Weber

MAR - 15223/11—B

54, WIAAUh! v HfFRaTTHTA Tehed-=1

55.

56.

TeHd  WaHTHE SToRe &t 31 918 WA
Sl ?

(A) &H
(B) @
(C) U=
(D) TaRIHH

‘T & e o e Afaw geen
AR, 3T WIATIR! RV e 3T ?

(A) ey
(B) wferaregedt
(C) g e

(D) . TH. fua

ek Fdld Hadl FHIIS T d, 3
gfqared Hion &l ?

(A) BT e
(B) A grewa™
(C) ¥ BEERAL
(D) ¥ T
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57.

58.

59.

Who wrote the book ‘What is to be

Done’ ?

(A) Plekhnov

(B) Marx

(C) Stalin

(D) Lenin

Who emphasized on the role of
consciousness instead of material

forces among post-Marxist thinkers ?
(A) Antonio Gramsci

(B) Lenin

(C) George Lukas

(D) Trotsky

Who addressed the problem of why
women are oppressed in “The Origin

of the Family, Private Property and
the State (1884) ?

(A) Karl Deutsche
(B) Fredrick Engels
(C) Susan Moller Okin

(D) Althusser

57.

58.

59.
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"oB1e 391 Z o T’ ® ek hioit fetfeet ?
(A) =iErHeE
(B) e
(C) e
(D)

+Jifcieh TTeRITaST SO fHehar v

3o HEHaR] faemeaq W feen ?
(A) ST UHen

(B) wif ™

(C) Sl Toprd

(D) Tfeht

‘fo ftfsm o wfael, waeee gfuet
3 fg W2 (1884)' =1 T Higam
TS0 RT BI 2 &1 HE Shivl] qisalt ?

(A) FTd TR

(B) Hheleh Tsed

(C) gz HIeR 3kl

(D) AR
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60.

61.

62.

Who wrote the book ‘The Subjection

of Women’ ?

(A) Marry Wollstonecraft
(B) Hayek

(C) Iris Young

(D) J. S. Mill

Apasthamba, Gautama, Vashishta,
Baudhayana are the

Of ceveeeeeee, .

names

(A) Ancient Republics

(B) Snataka

(C) Dharmashastras

(D) Mahayanas

Which of the following statements

is incorrect ?

(A) Dharmashastra texts were

authored by a single author

(B)

Dharmashastra texts enumerate

sources of Dharma

(C) Dharmashastra texts present
their ideas under the categories
of

Prayaschitta and others

Acara, Vyavahara,

(D) Dharmashastra are ancient law

books of Hindus

60.

61.

62.
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‘g S® gEA’ ® IS (i
fafeet 2

(A) T JA=HHRR
(B) B¥

(C) ST =

D) . Ty fua

ATTEGY, TaH, SIS, Aga & el
e eTed ?

(A) 9= TRy
(B) e
(C) e
(D) er™

Wrefleieh! 3Erg faum slesen :

(A) GHITE TehTe Heki forfeett 3mmed

(B) wHymSHed yHie @ fave sa
3TRd

(C) YHRTEIA foaR Ereitel SiSeRdid
a9l ol Ted; SR, SAGER,

YEfEd S sa

(D) wveTe feg=a W e
Hfed aed
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63.

64.

65.

Who put forth the concept of “Total

Revolution’ ?

(A) M. N. Roy

(B) B. G. Tilak

(C) Jayaprakash Narayan
(D) Dr. B. R. Ambedkar

In Ram Manohar Lohia’s
Saptakranti, which among the

following is not included ?

(A)

Revolution for equality between

men and women

(B) Revolution against racial as well
as political and economic
inequality

(C)

Revolution against arms and

amunitions
(D) Revolution against migration

In which book Mahatma Gandhi has

made a critique of modernity ?

(A) Satyagraha in South Africa
(B) My Experiments with Truth
(C) Hind Swaraj

(D) Anasaktiyoga

63.

64.

65.
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YUl AT HReTT HIOT HEa! ?

(A) 4. . 9
(B) &f. Sft. feosm
(C) STIYhIIT AR

(D) <. o, 3. AdSH

AR Ao Tehided qeraden!

IV TSl FHEST Bid AATer 2

(A) St 9&9 FHAEES i

(B) aif¥er 8= TSiehig 3T el

fooma faieama shidt

(C) 3= 30T <eTieean fa%g Shidl

(D) wyeriaw faiena it

TETCHT TTEAHT ShIve JERIehId STYfehder
e sheft a@ 2

(A) 3o eTfthendial FIE

(B) W& Fer= WA

(C) fég =

(D) STTERIET
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66.

67.

Choose the incorrect statement from
the following :

(A) Rabindranath Tagore was the
champion of Nationalism

(B) Jawaharlal Nehru was the
architect of Panchasheel

(C) Ram Manohar Lohia put forth
the concept of Chaukhama
State

(D) Dr. B. R. Ambedkar wrote the
book, ‘Rise and Fall of Hindu
Women’

Match the pair using the codes given
below :

List I
(@) Mohammed Igbal
(b) Jawaharlal Nehru
(0 M. K. Gandhi
(d) V. D. Savarkar
List II
(1) Discovery of India
(2) Mazini Charitra
(3) Idea of Pakistan
(4) Satyagraha in South Africa
Codes :

(@ @) () (@
A @O 2 @ B
B 2 @ @ @
< @» 2 @O B
M & 1 @ @

66.

67.

MAR - 15223/11—B
Weflcien! 3E g faum sfesen :
(A) TGS AR qARE TS B

(B) ORI A8® Uavierd f¥egehi

B

(C) THEAER clifean=i Sreen st
Thoudl TSl

(D) ‘feg fomr=h 3=t 9 5™’ ¥ =

~ N AN A s~ N
Sl. ddHled 3ATIShIHl Tedlged

Eelel gl I hed I el
S[esdl ¢
et 1
(@) WEHS ST
(b) AR "E®
(c) TH. . TeR
(d) fa. . HewHT
et 11
(1) fewpeelt =1tw gfem
(2) dfet =i

(8) Ufer&a =l T

(4) <o eTfihehdial TS
Hehdich :
(@ @) @ (@
A 1 2 @ @)
B) 2 @ G @
© @ 2 QO O
MD) B 1 @ 2
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68.

69.

70.

Sri Aurobindo use to write in which

newspaper ?

(A) Induprakash
(B) Karmayogi
(C) Deccan Herald
(D) Deenbandhu

In the Jayaprakash Narayan’s
concept of Sarvodaya which is the
last ‘daan’ after Bhoodan, Gramdan,

Sampattidan ?
(A) Grahadan
(B) Jeevandaan
(C) Putradaan
(D) Kanyadaan

Who among the following is the

adherent of syncretic culture ?
(A) V. D. Savarkar

(B) Deendayal Upadhyaya
(C) Kabir

(D) Muhammed Igbal

68.

69.

70.
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st orfecl IV adqHTed fafgd

I ?
(A) TZUHT

(B) AN

(C) SFFd TWee
(D) feay

YT TR0 I Haled Hehadd

S, UHSH, FAHIGH IHER FI0d TH

A oe ?
(A) &<
(B) SfremeH

(C) gFaH

(D) ®ARH

EeTeTdeh! R0 Wi HEhd= qLEndi
g ?

(A) fa. T FEEl

(B) feeame sweam

(C) =hsil

(D) WEHS ST
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71.

72.

Andre Gunder Frank and Marta

Fuentes have written the famous

article :

(A) Theses

Movements

Nine on Social

(B)
(&)

New Social Movements

Cyclical Movement towards the
Eternal : Nine Theses of Social

Movements—A Critique

D)
Which of the following statements

Essays on New Social Movements

are wrong ? Choose your answer

from the codes given below :

(@) Nationalism transformed

Europe in the 19th Century

(b) Nationalism led to the formation

of new nation-states in Europe

(¢c) Nationalism

fragmented

European empires

(d)

Nationalism was an intellectual

reaction to the Enlightenment
Codes :
(A) (a), (b)
(B) (), (c), (d)
(C) (@), (b), (c), (d)
(D) None wrong

71.

72.
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3 TSR Theh MU Tl WL AT
fafecen ufas a9 .
(A) e foudw T Here geeHey
(B) = W™ HegHey
(C) THferishcl Yeghe AaeH g 527 ¢
TEA Ford o IR JogHeq—
N ferfen
(D) & 317 = W HegHe
WEAedeh! Shivrd! faem™ 9 smed ? e
feeiean = S Herer ¢

AR 19T dehTd Ul FRaH
Hal

(@)

TSARH JAIE T T[T
o g% o

SZARHes JUTd Johe AT

®)

(c)

(d) AR & el fHeserent fgaml

widfshan gt
Hehdich :
(A) (a), ()
(B) (b)), (c), (d)
©) (@), B), (o), (d)

(D) THEl = R
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73.

74.

Who for the first time separated the

terms ‘Civil Society’ and ‘State’ ?
(A) John Locke

(B) Thomas Hobbes

(C) G. W. F. Hegel

(D) J. J. Rousseau

the

Chronologically organise

following revolutions. Choose your
answer from the codes given below :
(@) Russian Revolution—Bolshevik
(b) French Revolution

(c) Chinese Revolution
(d) American Revolution
Codes :

(A) (), (a), (c), (b)

(B) @), ), (a), (c)

(©) (), (d), (b), (c)

D) (), (b), (d), (@)

73.

74.
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‘T g AR TS A9 SREY e
qard YoH HIOT e ?
(A) <9 dlh
(B) o9 ®le
(C) . =Y. Th. &«

(D) < SR &

T ShicaTd SRTATIHATHER T
#U. e feddedn geEqT gae S
et -

(@) I TR — Sevifereh
(b) BT TSIl

) et Tsgsht

(d) SR T
Hehdich :

A) ), (@), (c), (b)
B) ), (), (a), (c)
©) (), (d), (b), (c)

D) (o), (6), (d), (@)
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75.

76.

77.

Which of the following factors
are not conducive to judicial
independence ?

(@) Secure tenure of Judges
(b) Separation of powers

(c) Executive intervention
(d) Legislative intervention

Choose your answer from the codes
given below :

Codes :

(A) (@), (B), (c)

(B) (), (c), (d)

(C) (@), (b)

D) (e), (d)

Which of the following is not a civil
society campaign ?

(A) LGBT Rights

(B) Save Marathi Schools

(C) Narmada Bachav

(D) Swachh Bharat

Which of the following are not the
functions of political parties ?

(A) Management of succession to
power

(B) Obtaining popular consent to

the course of public policy

(C) Nominating candidates for

elections

(D) Aggregation of the demands of

interest groups

75.

76.

77.
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AN A NN o
Clldldlen] anlVld  elcen A4l

QAAE Thd ATéd ?

e feoean EIq 9ra S e .
(@) —rEnEiem=n F=a dar st
(b) G faureH

(¢) FHE®EN HeorEl T

(d) fafeeer=n swa™

Hehdieh :

A) (@), (B), (0

(B) ), (o), (d)

(C) (a), (b)

D) (o), (d)

ETefteten! I ST R ST
et ?

(A) TSNS B

(B) #US WM& Ar=al

(C) a1 ==

(D) W= ¥id

EeTeTdeh! hIUd TSThIE 9D hTH
qMer ?
(A) IO SFOEIT SHIo

(B) Hrasi{qeh &OMeAl @rehi=l GHAT
THczar0r

(C) FraeTmdad SHCaR™ ATHHA 0!
D) e i . f
I
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78. Match the following groups in List I

with the type of their organisation
List II :

(@)
b)
(c)

(d)

(1)
(2)
3)

(4)

List I
Anti-corruption movement
All India Kisan Sabha

Federation of Indian Chamber

of Commerce and Industries

(FICCD)
Green Peace

List II
Associational Interest group
Lobby

Non-associational interest

group

Pressure group

Choose the correct answer from the

codes :

Codes :

(A 3
(B) 4)
©
D) (@)

(@) (b)
4)
(2)
3)

(1)

(c)
(2)
(1)
(2)
(3)

(d)
(1)
3)
(4)
(4)
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78. el footed At I welid e 9 At 11

el = oAl YhR A=A SISl

ME. T e Hehdiehiqd A el

aer

(@)
b)
(c)

(d)

(1)
2)
3)
(4)

R |
ye=R folie <ede
Afed AR fohe™ |
HERM 3 Sfead <o 11 g
M9

et 11
ek feadatl e
it
F-georcs feagaE e

ECIE R

- -
-
-

A 3
(B) 4)
€

D) (2)

(@ B © @

4) 2 @

2 @ @O

3 2 @

1 G @
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79.

80.

Choose the incorrect statement from

below :

(A) American Constitution is very

rigid constitution

(B) American Constitution was

drafted at Washington

(C) American Constitution did not
provide for Judicial Review, it

was incorporated in 1808

(D) The first 10 amendments to the
US Constitution make up Bill

of Rights

Who said, “The governing class
justifies its actual exercise of power
by resting it on some universal

moral principles” ?
(A) Gabriel Almond
(B) Mosca

(C) Trueman

(D) David Easton
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79. WU Sehd faum sfeen :

80.

o [a

Nes N
TR

(A) TSTeeAT 37T diel 38

(B) 3= TogeeT aifyied I9 Tar

0T SATeAT

(C) MAfm=ar TsTeead FATAI

fald

g

TIehT=il TS ATeadt, 1808 HEA

M THEY ATl

(D) THTE=AT TsTeeq dfgedl 10
FEAIGERIGR BaREl g HHI
FHIOITT STAl

YT T, T T ST 9aee

el AfYasd HAfqe aEren NER

s, ¥ faum wome ew ?
(A) Tfssta sTers

(B) wIEh

(C) T

(D) ot $&HA
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81. Which of the following statements

82.

is not true ?

India views BRICS forum as a

platform :

(A) To promote economic growth

within the group

(B) To develop close strategic
relations among the member

countries

(C) To address food and energy

security concerns

(D) To prevent increasing U.S.

dominance

Which of the following is not an

element of India’s ‘Act East’ Policy ?
(A) Cultural relations

(B) Nuclear co-operation

(C) Economic relations

(D) Connectivity

81.

82.
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TeATerdeh! v foem sler T ?

foleR TeTehe 9Rd Y= AUS WA
el ?

(A) TR 2T foehTaTet =TerT U
IS

(B) IR SUMY SUIH T&ure ke
el SAEua SIS

(C) 3T 0T o1l YR&r=A Fear= fa=ar
FIE AYS

(D) A= dredr 99e eI

IS

TTeATeTdehl hIUIT Seeh WRATeA * ofae
3=’ URUE Wes AR 7

(A) HiEpfash HaY

(B) eTfvas wgsr

(C) mf¥en e

(D) TIUERUMGR SISl S
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83. Which of the following pairs is not

correctly matched ?

Column 1

(India’s Neighbouring State)

(@)
®)
(c)

(d)

(D
2)

3)

4)
(A)
(B)
()

(D)

China
Bangladesh
Myanmar
Pakistan

Column 1II
(Pending Dispute)
Trans-Karakoram Highway
Teesta River Water

Exclusive Economic Zone

boundary
Sir Creek
(@)~(1)
(b)—2)
(c)=3)

(d)—(4)

MAR - 15223/11—B

~

AN A N A N A N
83. WIATcYshl <RIVl SIS SEX sl

& ?

(@)

®)

(c)

(d)

(1)

2)

(3)

(4)

(A)

(B)

(&)

(D)

w1
(SRATET ST 29T
Elk
EIRICH
MR
ElIERSIE|

Wy I

(T georen femma)

TH-HRRIA  HEHRT
e TS aof
geic i eI IiEel|
W Erel
(a)-1)
6)—(2)
(c)—3)

(d)—(4)
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84. Which of the following pairs is not | 84. Weliciyeh! HIV SISl SR ezaeiel

correctly matched ? T ?

Column I e I
(India’s Neighbouring State) (YA SR 29T
(@) China (@) =
(b) Pakistan (b) TIfRE
(c) Nepal (c) U
(d) Bhutan (d) =

Column II w11
(Pending Border Dispute) (7 georen Hmr faarg)
(1) Aksai Chin (1) sters =4
(2) Trans-Karakoram Highway (2) TA-FHRGRA HEMER
(3) Kalapani Border (3) HIaTArHT HH
(4) Arunachal Pradesh Border (4) STEUTEA Yo¥ S
(A) (@)1 (A) (@)—(1)
(B) b)~2) (B) (b)~(2)
(©) (©—3) (©) (©—3)
D) (d)—4) D) (d)—4)
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85.

86.

The “Comprehensive Economic Co-
operation Agreement” (CECA) was
signed to boost bilateral ties between
India and :

(A) Singapore

(B) Myanmar

(C) Malaysia

(D) Vietnam

Assertion (A) :

The changed global scenario after
the end of the Cold War made it

imperative for India to build up
sound relationship with the US.

Reason (R) :

Pakistan factor no more governs

India’s foreign policy.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (R) is true, but (A) is false

85.

86.
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ey 1Y el TR (CECA)

B YRAM hIUT QUMeRSR hell 7
(A) TR

(B) =MR

(C) weiern

(D) fua™

fagm A) :
ISR Teercted ST IRIEeRTes
oy SRR e GuRe e
.

T (R) :

TRATA TR FROMER. qifhe™ AT

T TS A il Tl

‘H@H‘I’E :

(A) (A) 3T (R) Ta! SRIeR 3TTed ST
(R) T (A) ¥ I TR0 AR

-~

(B) (A) T (R) Sl SRR 3TTed, T
(R) ¥ (A) = Ira I ol et

(C) (A) =R 3118, 907 (R) § I 3118
(D) (R) SR 318, 907 (A) © I 318
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87. Assertion (A) :

India-China relations are extremely

complex today.

Reason (R) :

India and China have common
interests at the WTO; their bilateral
trade has grown rapidly in the past
decade, and they also have pending
disputes over thousands of kilo-

meters of border.

Codes :

(A) (A) is true, but (R) is false

(B) Both (A) and (R) are true, but

(R) is not the correct reason

of (A)
(C) (R) is true, but (A) is false

(D) Both (A) and (R) are true and

(R) is the correct reason of (A)

MAR - 15223/11—B

87. faam A) :

ST MR- FaY 3T Sifed WEar

TR

U (R)

WA 30T =9 A= SIfaeh AR Seed

T feqaay TRd; Todl SRS

el fguefta =R S dred 3TR;

10T SrETHY BRI TRl e Siiae

o

9 geod fa

.
a1g  3Tad.
Hehdieh :

(A) (A) IR 3118, 90T (R) B I 3118

(B) (A) =1for (R) Sl sIeR 3Ted, qu

(R) ¥ (A) 9 Iqrg TR0 RN

(C) (R) 9 3118, 90T (A) B I 3118

(D) (A) 3T (R) TFal seR 3Ted ST

R) % (A) 3 ITT WEIH AR
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88.

89.

Choose the incorrect statement from

the following :

(A) In Indian Constitution Articles
352, 356 and 360 deal with

emergency powers

(B) American Constitution does not
expressly grant the President
powers in times of national

emergency

()

In India emergency was
declared in the year 1975 under
Article 360

In America President Roosevelt

(D)
invoked emergency during

World War 11

The concept of ‘Circulation of elites’

has been used by :
(A) Gaetano Mosca
(B) Vilfredo Pareto
(C) Robert Michels

(D) Max Weber

MAR - 15223/11—B

88. Welclush! gehiw faem i@ :

(A) IR TTeedil hetd 352, 356,
360 ITHLA AT faoRreh aRel
3TRa

(B) 3TARGH=I ToHEeH T SAUaOT=A1
FHTeE TG TTT0 STTRR

feaa e

(C) YRA 1975 Hreil shetd 360 S
<31 i o) i G ) Qe T | A R )

o

(D) T HESTAl hled A

TS Fgraee AT SN SfeR
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90.

91.

Which among the following is an

incorrect statment ?

(A) Liberalization does not always
lead to democratic transition

(B) Democracies must meet three

basic procedural criteria :

competitive elections, adult

citizenship and minority rights

(C) According to O’Donnell there
are two transitions : a transition
to democracy and transition to
a consolidated democracy

(D) All democracies emerged after
second world war have transited

from democracy to consolidated

democracy

Collective security measures were
first applied by the UN in 1950.
Against which country were they
applied ?

(A) Cuba

(B) North Korea

(C) Vietnam

(D) Egypt

90.

91.
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Weileh] 3Era faum slesen

(A) STHIUMHS ATHE TAIHIMEId

THHI B eI

TAIRIMRIAE HIE GAYT TfsharcHsh
1Rt QUi el ANTArd : SaEicHsh

FaeuRRl, T ArRendd, STaEEAH

(B)

TFh

MEMeT= qd §F FhEl Tl

AT ; AIhIMEHEY HehyuUl STIfuT

(&)

q3e TRIMEIRS HhH

(D) THEA FESH®R IGATAl AT el
TARINET ST H3& AL
HHTU S 3T

T TS 1950 A9 ufgedel drfesh

TR TR AT ot RV SENaes
ARA! Bt ?

(A) ==

(B) ST I
(OREEIL]
(D) S
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92. Match the following pairs using the

key given below :

Column 1

(International Organization)

(@)
b)

(c)

(d)

(D
(2)
3)
(4)

Universal Postal Union (UPU)

United Nations World Tourism
Organisation (UNWTO)

Fund

Development

International for

Agricultural
(IFAD)

International Civil Aviation
Organisation (ICAO)

Column II
(Headquarters)
Montreal
Rome
Madrid

Bern

Codes :

A) (2)
B) )
C) @
D) )

(@) (®)
3)
(1)
3)

(4)

(c)
(1)
(4)
2)
(1)

(d)
4)
(2)
(1)
(2)
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92. Weil fooiell F=I aI®A arg S

S[esdl

(@)
®)

(c)
(d)

(1)
(2)
3)
(4)

w1
(MAWTET Goe)

SIATfaer 2atdd |ee1 (UPU)

TR TS SAT(qeh Ggied ol
(UNWTO)

AW Foit fashrd et (IFAD)

STAREE A IESAT FoleAl
(ICAO)

e 11
(g@nm)

158

-
-
X3

(A) (2)
B) 3)
C) @
D) 3)

(@) (c)
(1)
(4)
(2)

(1)

(d)
3)
(1)
3)
4)

(4)
(2)
(1)
(2)
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93.

Who builds on Kenneth Waltz’s

argument concerning the stability of

bipolar system as compared to

multipolar system ?

(A) Stanley Hoffmann

(B) Charles Kindelberger

(C) John Mearsheimer

(D) John Gaddis

MAR - 15223/11—B

93. fgyala e JgyEa SHaw=a1 qoid

3T TR o1, a1 %Ay dicey AT

AIEviien ge 34 foaan fowar wrefierten]

N o LI NN
ShIUTT TIERAd shell 7

(A) €< BIHAA

(B) =Ted fheaeriy

(C) S HIER

(D) S Tifed

94. When did the WTO come into | 94. Sfdeh SR HEAT shegl AR STl
existence and where 1is its RG] AT FS AR ?
headquarters ?

(A) 1995 T&d, SIfyred .4t
(A) In 1995, Washington D.C.

(B) 1993 w&d, fegu—
(B) In 1993, Vienna

1 Ty, fquea
(C) In 1993, Seattle (€) 1993
(D) In 1995, Geneva (D) 1995 wey, fSifan
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95.

96.

97.

The Nuclear Suppliers’ Group (NSG)

was formed in the year :
(A) 1972
(B) 1977
(C) 1974
(D) 1969

Which of the following countries
is not a member of Shanghai

Co-operation Organisation ?
(A) China

(B) India

(C) Tajikistan

(D) Iran

Who has written the book “The Cold

War : Retrospect and Prospect” ?
(A) Lewkowicz Nicolas

(B) Hopkins Michael

(C) Frederick Schuman

(D) Bronson Rachel

95.

96.

97.

MAR - 15223/11—B

3fUgeh qRASIER 3erm=l T (NSG) et

AfETcaTd T ?
(A) 1972
(B) 1977
(C) 1974

(D) 1969

EeidAUeh! Il <97 IMERT Heghrd

e gYEe A ?
(A) =

(B) ¥Rd

(C) dfStfer&dm

(D)

“g Fiee IR : R sfve gidee "’
AR ?

a0~ e~ N

T g s fafea

o Y

SEJNISS

(A) R
(B) efufehd ArIha
(C) el A

(D) S99 =
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98.

99.

100.

Assertion (A) :

The Arctic sea route remains open
for navigation for more number of

days a year since last few years.
Reason (R) :

The ice on the Arctic is melting more
due to climate change.

Codes :

(A) Both (A) and (R) are true, and
(R) 1s the cause of (A)

Both (A) and (R) are true, but
(R) is not the cause of (A)

(B)

(&)
(D)

Both (A) and (R) are not true

(R) is true, but (A) is not true

Where is the headquarters of
SAARC ?

(A) New Delhi
(B) Kathmandu
(C) Thimpu
(D) Colombo

Democratic Peace Theory is placed
under which theoretical approach of
International Relations ?

(A) Structural Realism
(B) Classical Realism
(C) Idealism

(D) Institutional Liberalism

98.

99.

100.

MAR - 15223/11—B

faam (A) :

Arfel ShTE auiagA 3Tfeeh | AN
eI ST e Ja TRl

T (R) :

o ¢ o
dAldleU[-dgcilHoo SHllereeh ol T S

JHTOa fordesd 3TR.

Hahdich :

(A) (A) 37T (R) S8 SR 3T, ST
(R) ¥ (A) ¥ SR 7%

(B) (A) 311 (R) Tl SIeR 3Ted, I
(R) T (A) ¥ &R TR

(C) (A) sTfor (R) gl seR A
(D) (R) SR 2T, 997 (A) SRI&R A&l

A AT &S 3§ ?
(A) ot feeeft

(B) reHS

(C) fag

(D) wicsl

ATheTEl Iader fagid SfTarse
AT HI0 giesh STt I ?

(A) HEATHS: RS
(B) 1fusia areaarg
(C) 3TeRiErR

(D) TEAHE: SSRHATAE
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